2022FFF IWIRESIREEIREBRERER (15 R)

BEATIR _ -
B¥7I EE WERR £EH tmE | FRE | EF8 | BHE | MHERE | LER | EEE | XRE | AR | HEBER | BEE | FER | BRH SN
(1)ZIRPEEEL 495 5 4 3 5 2 8 13 22 15 13 14 11 9 27
()RR ES 145 2 1 1 4 2 5 2 4 3 6 5 3 4 4
FR - ERREEFIR
() EHGRAREH 147 2 3 1 3 2 4 5 3 3 3 5 1 4 7
() RRIRTESISEE R 106 2 1 1 3 2 4 1 3 3 3 4 0 4 4
(5)ZREBFEE 44 0 0 0 0 0 0 2 3 1 0 3 0 1 3
FREBRDHZAE
(6)FRIERAIEES 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(7)SIREPEEH 1 0 0 0 0 0 0 0 1 0 0 0 0 0 0
ERRBRDHZHE
(8)REGRAIRE I 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
. 9)ZIREPFEE L 150 0 0 0 1 1 3 2 5 2 3 9 1 0 7
e I Rt
(ERIRERDHZ1R) .
(10)BBRTEAIRER 40 0 0 0 0 0 3 2 4 0 0 2 0 0 0
11)SHREEEN 10 0 0 0 0 0 0 0 0 0 0 0 0 0 2
S bt
ERGREBRDH TR
(SR =) (12)BEREAIRE R 4 0 0 0 0 0 0 0 0 0 0 0 0 0 1
W75k (13)ZREPBER(RBRESIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= 2= o
TIREH (1) HRFERE 700 5 4 3 6 3 11 17 31 18 16 26 12 10 39
(1)+(5)+(7)+(9)+(11)+(13)
PN =
(I5)FHERHBED 689 5 4 3 6 3 11 17 30 18 16 26 12 10 37
(1)+(5)+(9)
=3 NSy #
gy |(OFRERER 188 2 1 1 4 2 8 4 8 3 6 7 3 4 4
(2)+(6)+(10)
(17)$*ﬂéﬁ$ 0 0, 0 0, 0, 0, 0 0, 0, 0 0 0, 0, 0 0
(16)/(15) 27.3%| 40.0%| 25.0%| 33.3%| 66.7%| 66.7%| 72.7%| 23.5%| 26.7%| 16.7%| 37.5%| 26.9%| 25.0%| 40.0%| 10.8%
E=3 2= o
B (18)REEHRFREL 506 5 4 3 5 2 8 13 23 15 13 14 11 9 29
(1)+(7)+(11)
sy |(IORBERER 151 2 3 1 3 2 4 5 3 3 3 5 1 4 8
(3)+(8)+(12)
(20)§;§é*§$ 0, 0, 0, 0 0 0, 0, 0, 0 v} 0 0, 0 0, 0,
(19)/(18) 29.8%/| 40.0%| 75.0%| 33.3%| 60.0%| 100.0%| 50.0%| 38.5%| 13.0%| 20.0%| 23.1%| 35.7% 9.1%| 44.4%| 27.6%
st |(GEBRESHESS 150 2 1 1 3 2 7 3 7 3 3 6 0 4 5
(4)+(10)+(12)+(13)
BIBE (%) (zz)zii;fi):'%g 21.4%| 40.0%| 25.0%| 33.3%| 50.0%| 66.7%| 63.6%| 17.6%| 22.6%| 16.7%| 18.8%| 23.1%| 0.0%| 40.0%| 12.8%
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ERFE = =
B¥7I EE WERR 2E FRR | ELR | AR | BHE | LHER | BFR | RKBE | HFER | BNR | =58 | #ER | REF | ARG | 2ER | KRR (IR
(1)ZIRPEEEL 495 8 8 12 5 4 6 8 26 89 22 17 4 14 26 3 0
(2)FRIHBREISEE 145 4 3 4 0 1 1 3 8 26 9 3 0 5 7 2 0
FH - R CEFEIR
(3) IR EIBEE 147 3 2 5 0 1 1 2 7 29 7 4 0 4 6 2 0
(4)EERTESIEER 106 3 2 3 0 1 1 2 7 18 4 3 0 3 5 2 0
(5)ZIRPEEEL 44 1 0 0 0 0 1 0 1 3 2 1 1 1 4 0 0
FREREBROHZAR
(6)FRIHEREISE K 3 0 0 0 0 0 0 0 0 0 0 0 0 0 1 0 0
(7)RAEEPEE 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ERGRERDH AR
(8)RILHEREIZE K 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
. 9)SARERFEES 150 2 2 2 5 0 2 6 3 32 5 8 1 4 2 5 0
e I Rt
(ERIRERDHZ1R) .
(LO)IRBEARTE SHEEER 40 1 1 0 1 0 1 0 0 7 1 2 0 1 1 1 0
11)ZAREEEL 10 0 0 0 0 0 1 0 1 1 0 0 1 1 0 0 0
S bt
EIGRERDHZAR
( . =) (12)EEARTESIRE R 4 0 0 0 0 0 0 0 0 0 0 0 1 0 0 0 0
ARk (13)ZARPFEH(AARESIEEL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= S b
SRR (1) HRFERE 700 11 10 14 10 4 10 14 31 125 29 26 7 20 32 8 0
(1)+(5)+(7)+(9)+(11)+(13)
15V R SIRERE
(I5)FHERHBED 689 11 10 14 10 4 9 14 30 124 29 26 6 19 32 8 0
(1)+(5)+(9)
P NS #
2] (1e)FHEIEEN 188 5 4 4 1 1 2 3 8 33 10 5 0 6 9 3 0
(2)+(6)+(10)
(17)?*11@%:—,2—‘ 0 0, 0, 0, 0 0, 0 0 0, 0, 0, 0 0 0, 0 0
(16)/(15) 27.3%| 45.5%)| 40.0%| 28.6%| 10.0%| 25.0%| 22.2%| 21.4%| 26.7%| 26.6%| 34.5%| 19.2%| 0.0%| 31.6%| 28.1%| 37.5% -
= S b
B (18)REEHRFREL 506 8 8 12 5 4 7 8 27 90 22 17 5 15 26 3 0
(1)+(7)+(11)
1 &
£S5 (O)REEHEED 151 3 2 5 0 1 1 2 7 29 7 4 1 4 6 2 0
(3)+(8)+(12)
(Zo)iiié*gx 0, 0 0 0, 0, 0, 0 v} 0, 0 0 0, 0 0, 0 0,
(19)/(18) 29.8%| 37.5%| 25.0%| 41.7% 0.0%| 25.0%| 14.3%| 25.0%| 25.9%| 32.2%| 31.8%| 23.5%| 20.0%| 26.7%| 23.1%| 66.7% -
i 21 RHRESIRES
BRIt (2L)REREEAEE 150 4 3 3 1 1 2 2 7 25 5 5 1 4 6 3 0
(4)+(10)+(12)+(13)
BIRE (%) (zz)ii;fﬁ:%x 21.4%)| 36.4%| 30.0%| 21.4%| 10.0%| 25.0%| 20.0%| 14.3%| 22.6%| 20.0%| 17.2%| 19.2%| 14.3%| 20.0%| 18.8%| 37.5% -
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ERFIR o = P . 3
B¥7I EE AERR 2E EHRE | BBE | MUR | ZBRE | WAR | #BE | IR | SRR | =8 | EEE | £ER | RBRE | AR | ADE | ZRE EESRE| e
(1)ZIRPEEEL 495 2 2 8 22 12 5 3 3 0 10 4 0 12 3 3 3 0
(2)FRIHBREISEE 145 0 1 2 2 5 1 0 1 0 3 1 0 4 2 1 0 0
FH - R CEFEIR
(3) IR EIBEE 147 1 1 2 3 6 1 2 2 0 3 2 0 3 1 1 0 0
(4R TESIREEK 106 0 0 1 2 5 0 0 1 0 3 1 0 2 1 1 0 0
(5)ZIRPEEEL 44 0 0 2 2 2 0 1 1 0 1 0 0 7 0 0 0 0
FREREBROHZAR
(6)FRIHEREISE K 3 0 0 1 0 0 0 0 0 0 0 0 0 1 0 0 0 0
(7)RAEEPEE 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ERGRERDH AR
(8)RILHEREIZE K 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
. 9)SARERFEES 150 0 2 4 11 5 0 0 3 0 7 0 0 3 0 0 2 0
e I Rt
(FRRERDHTZAR) N
(LO)IRBEARTE SHEEER 40 0 1 2 2 0 0 0 1 0 3 0 0 1 0 0 2 0
11)SHREBFEL 10 0 0 0 1 0 0 0 0 0 2 0 0 0 0 0 0 0
S bt
EIGRERDHZAR
( . =) (12)FHEEARTE SR B 4 0 0 0 1 0 0 0 0 0 1 0 0 0 0 0 0 0
ARk (13)ZARPFEH(AARESIEEL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= S b
SRR (1) SR 700 2 4 14 36 19 5 4 7 0 20 4 0 22 3 3 5 0
(1)+(5)+(7)+(9)+(11)+(13)
15 == RmE
(I5)FHERHBED 689 2 4 14 35 19 5 4 7 0 18 4 0 22 3 3 5 0
(1)+(5)+(9)
P NS #
2] (1e)FHEIEEN 188 0 2 5 4 5 1 0 2 0 6 1 0 6 2 1 2 0
(2)+(6)+(10)
(17)?*11@%:—,@ 0 0, 0, 0, 0 0, 0, 0 0 0, 0 0, 0, o) 0
(16)/(15) 27.3%| 0.0%| 50.0%| 35.7%| 11.4%| 26.3%| 20.0%| 0.0%| 28.6% —| 33.3%| 25.0% —| 27.3%| 66.7%| 33.3%| 40.0% -
= S ot
g (18)REZRPHEL 506 2 2 8 23 12 5 3 3 0 12 4 0 12 3 3 3 0
(1)+(7)+(11)
1 &
£S5 (O)REEHEED 151 1 1 2 4 6 1 2 2 0 4 2 0 3 1 1 0 0
(3)+(8)+(12)
(Zo)iiié*gx 0, 0 0 0, 0, 0, 0 o) 0, 0 v} 0, 0 0, 0
(19)/(18) 29.8%| 50.0%| 50.0%| 25.0%| 17.4%| 50.0%| 20.0%| 66.7%| 66.7% —| 33.3%| 50.0% —| 25.0%| 33.3%| 33.3%| 0.0% -
BRIt (21 ERERIE SRS 150 0 1 3 5 5 0 0 2 0 7 1 0 3 1 1 2 0
(4)+(10)+(12)+(13)
BIRE (%) (zz)ziijfi):'%g 21.4%| 0.0%| 25.0%| 21.4%| 13.9%| 26.3%| 0.0%| 0.0%| 28.6% —| 35.0%| 25.0% —| 13.6%| 33.3%| 33.3%| 40.0% -




